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INSTRUCTIONS TOCANDIDATES
1. This Booklet contains 300 questions in all compriging the following
four parts

Part — A : General Intelligence & R AsOIMng {50 i Juestioms)
Fart — B: General Awareress (S0 Questions)
Part — C Chaantitative Aptitude {5 Questions)
Part [:  English Cosrprehension (S uestions}

2. Inquestions set !"|II'-;"L:-.|||'. in Englash nd Hindi, in case of disc TePancy,
the: Engzlish versio prevail

3. All questions are compulsory and carry eqpual marks

4 The paper carrivs megattoe marking. 025 marks will be deducted for sach

L '=-lr.'_\ STETIEF

5 Before you start to answer the questions you must check up this
Eooklet and ensure that it contains all the pages (1-32) and see that no
page is missing or repeated. If you find any defect in this Baaklet,
you must get it replaced fnmediately,

6. Youwil be supplied the Answer-Shert separately by the Invigilator
You must complete and code the details of Nanre, Roli Numiber, Ticket
Nuesmiber sl Test Form Nuriberon Side-1 of the Answer-Shest caneful Iy
You must also put your signature amd Left-Hand thumb impression on
the Answer-Shest at the prescribed place before vou actually start

arswering the questiors. These instructions must be fully « omplied
with, failing which, your Answer-Sheet will not be evaluated and vou
will be awarded “ZERCY mark. (V.H. candidates will have to ensure
that these details are filled in by thie sevibe. However, all V. H, candidates
must put their iefl-hand thumb impression at the space provided in
the Answer-Sheet, Those ¥ H. candidates who can gign should also
puttheir signatures in additicon to thumb impression.)

7. Answers must be shown by completely backening the correspond i
ovals on Side-11 of the Answer-Sheet against the réfevant guosin
nusiber by Black Blue Ball-Point Pea Only. Answors which aff not
shonwn by Black,! Blue Ball-Peint Pen will not be awarded ammmitek.

& A machine will read the coded information in (hes@piR
Answer-Sheel. Incase the information is incomplate opdifierent fhm
thee information given in the application form, such @Endidatewill be
awarded "FERD" mark

9. The Answer-Sheet must be handed over to the Ing-m:&;tm'h-im e Yo
leave the Examination Hall W\

10. Failure to comply with any af the abovsinsheuciinos will render a
ecandidate lable to such action/ penaliy 35 miybe desmed Fil,

11. The manmner in whi |||'.|':'rrf|'r[".‘||: qw'.‘# are to be answered has
been explained at the back of th woklet Wage No. 320, which vou
should read carefully be hl.‘l"‘n:u‘.u‘l.'r".ﬁ\'i-'.'i.l'lgﬂN'L[I:Ii-"h"?l'l_'\l;

1Z. Answer the questions a .;Il|n‘!|'._*_'p,~‘i\d as carefully as you can, Seme
questions may be difficu/fagNothets easy, Do not spend oo much
bme on any guestion

13 In lien of Cuestion Mos, 39 to 50 and 144 to 150, relating to figural
portiens, alternate questions have boen provided to be altsmpiad by
V.H. Candidates only

14, Mo reugh work is to be done on the Answer-Sheet. Space for rough
work has been provided below the questions.

15. “Mobile phones and wireless communication devices are
completely banned in the examination halls/ rooms,
Candidsates are advised nof to keep wobile photies {any other
wireless commumwication devices with them even switching it
off, in their own interest. Failing to comply with this
provision will be considered as using unfair means in the
cxamination and action will be taken against them including
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PART - A
GENERAL INTELLIGENCE & REASONING
I?lin:ctihrh:':|‘|L]|_||_--l;'.utl'.'mra'lluh.:-i-llctl]'.n:n*'..'.-h'-.!WL'!'-i_-' 8. (&) Distribufion {(B) Dispersiwon
letters,/ number from the given alternatives e
(¥ Diversion M Dilution
1 T BB e e R i
Ay 10: 100 (B 9:%
PR £ ( 7 (CL-&T M 120
iy 13:169 (D) 15250 3. A) _1 (B) 2 -'-["l o4 (1 12
1 10. _{AY Bachelos (B) Widow
. = -
Rl (C) Spinster (D) Wife
| _ 1
L gr ® 1&
3 11, (A) 88 (E-27 {C) 132 M 121
e
C : (B |
© 120 &) 127
12 (A) ¥ B E (@ B [0
3. AB:ZY 1 CL) o=
(A) WX B WV (O XW (D) VU 3% Arrange the following words as per order in the
dictionary
L (1) necrology
4, Sheep : mutton ; : Deer Ia
' ; E (2} necromancy
(A) meat (B) flesh
{0} wvenison (D) vead (3) necropolis
(4) necrophilia
5. Cobbler : Leather :: Tailorg 7 o (AY (12 (3 (1) (B-T11), (2), (4. (3)
(&) Cloth &) Shirt (@ (0. (3). (%) o) (2), (1), (4), (3)
() Draper (DY Thread
14. Which one of the given responses would bea
b. FLOWER: REWSLF: FRUITS: __ [ . meaningful order of the following ?
(A) STLIRE (B] SITTURF {1y Plant
(C) STUIFR (D} STRUIF 2 Seed
(3 Fruit
Directions : Inguestionnos. 7 to 12, find the odd number/ ad ,
letters/ number pair from the given alternatives, (4) Seedling
" (A) TPDC (B) BEDI _AA) (4)(2), (3} (1) (B) (2), (3) (1) (4)
() OLTE (O} BILQ () (4, (1) (3% (2) (D) (3 (2) (4 (1)

SPACE FOR ROUGH WORK

Click Here For CGL Exam Full Details : http://sscportal.in/community/cgl-



- Downloaded Erom - bitp-//sscportal in

5 } wiitl f notes +, < denotes denotos ™ denotes
o = T question nos. 15 o 18, a series 15 given,wilkn L. L = cdenot ! &
Directions : In question | I s Sl

one term missing, Choose the correct albernative from : 3
. 1 s the co tsi ment of the Iolowing
given ones that will complete the series hoose the co atern £ &

15. 2,3,59Y,_1 . (A 13>7<6+2 +

- ' ™ 12 i 14
(A3 (By 32 (L} 33 (L) 24

< 2 .
16. 7012, 23, 42 82, 4
1@ i (D) 28 i &L i} i
(AY 173 (B} 62 () 183 (Ly 1

17. ACE, BDF, CEG, _1 23 wahesh is 60" vears old. Ram is 5" vears junior to
I viahesh and ‘4 vears serior to Raju. The youngest

(A)y DEl Bj—4FH iy DEL n DFE hrother of Raiu iz Babu and he is ‘6" vears junior to

| '|!| 15 . t 15K -I" ernee :'I";'.'.i it .""l.&.ihl“lﬂl

18. ABCPQRDEFSTL

(AY VWX (B)_GHI O K M GKl (A) 18 Ny 5 3 13 ( 06

J_‘_ -

19, Frorm the given alternatives select the wi -I.-.: which 24, INERain code language Sue Re Nik means She is
cannot he formed .__Hil'-.:_‘.“_1|-ll-1l.1-| -,.:._':'\.'.||:I:.:'r'l."-\-"iII brabe P Sor Be Mik means She is .I!.'l'..i'-"'\-""l'l'lli'il'lﬂ
MERCHANDISE il Sor Be Zhi means Is always cheerful What is

3. i
I the code used tor the word § niling
( (A) MESH (B) DCE
AT ) ik (B)y | Cy_Pi
(C) CHARM (D CHANGI e

7M.  Select the correct combination of mgfhegy el
lo replace * signs and to palatice phe given | o5
equation
2 ¥4 3 Y A | | { ]

L-'l_‘:. u; | ‘I

[ A - || ) - "

\R-II ;i 26. i } ba 21/
) g (B _"'f. i€ 3

1. In a retail s, there were 54 cupboards. In eac
cupboard, 28 racks were made. In ea h rack 10
boxes were kepl. [n eac h box 4 shirts were packed
Cne dav 500 boxes were sold and 250 boves were vy | KROK is c ia i nd KERRPE as 29972
purchased. How many shirts were there on that y v NI e
day ? i

. (A 1314 By 91572
LAY 50 340) (B} 59,580 li

iy 59,480 My &0,280 21434 (D0 45176

SPACE FOR ROUGH WORK

-3
b |

[

CY-2013/ Faged

Click Here For CGL Exam Full Details : http://sscportal.in/community/cgl



Downloaded From : http://sscportal.in

28. If 'FATHER' is coded as "HCV]GT then how can
‘_"'H”'I be coded as
(A} TG
() THKR

(BY UJKR
(D) UKJR

29,  From the given alternative words, select the word
which can be formed using the letters of the given

word,

REPUTATION

(A} PONDER (B} REQUIRE
(O) RETIRE ¥DT TUTOR

30, Find the hidden meaningful word from the coded
alphabets if the alphabets are in reverse order.
(8)-T1, 15, 26, 13, 22 (B) 15,11, 22,26, 15
© 11,22,15,13,26 (D) 26,22,15,13, 11

31, Looking ata woman sitting next to him, Amit said,
“She is the sister of the husband of my wife”. How
is the woman related to Amit ? .
(A) Daughter (Bi—Gister
() Wife (I MNiece

Directions : In question nos. 32 to M, select the missing
number from the given responses :

32. 24 "0 A7
31 |\ 1
26 36 19
(A) 26 (B) 30 C €5 oy 23
33. & 5 4
5 :
5 7 A
37 23 "
(4) 10 (= 12 () 13 D 14
34, B 12 13
& 5 10
2 R ?
'S 15 18
(AY 15 B 5 {0 6 @ 3

35. Sharada started to move in the direction of south
After moving 15 meters, she turned to her left - twice
and moved 15 meters each time, MNow how far is she
and in which direction from her starting point ?
{(A}-15m. East (B) 15m.South

(C) 30 m., East (D) 20m. West

36, Sonia started from her house and travelled 4 km

towards east. Then she turned left and travelled
6 km. Then she turned right and travelled 4 km. Al
what distance is she from starting point ?

(A) 14km By Bkm

(O} 5km (I 10km

37. In each of the fallowing question, there are two
statements laS8ledhas Assertion (A) and Reason (R).

(A) Autism isg developmental disahility.

(R), Heridigr and lower development of brain are
thEgauses of the Autism.

) Both (A) and (R) are false
() Both (A)and (R) are true
() (A)is true and (R) is false

() {A)is false and (R) is true

Oine Statement is given followed by two Conclusions [ and
I1. You have to consider the staternent to be true, even if it
seems to be at variance from commonly known facts. You
are to decide which of the given conclusions can definitely
be drawn from the given statement. Indicate your answer.

38,  Most Indians are aware that they have a great
heritage, but few would include science in it

Many Indians consider science to

have made Indian heritage great.

Conclusion: |

] Many Indians are not aware that
India has a great scientific
heritage

(A) {_"an]_y Conclusion | follows
(B Only Conclusion I follows
() Both Conclusions Land [I follow

(D) Meither Conclusions Inor [ follow

SPACE FOR ROUGH WORK
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39,

40.

41.

Identify the answer figure from which the pieces
given in the question figures have been cut,

Question figures

Y

\ '
| N, et
LT [N
Answer figures
= ——
=

Which of the following diagrams represents the
correct relationship between Herbivores, Tigers and
Animals ?

Answer figures
S T o ——
[ = :\'- f(f ~ —‘ = ,__1\ [ ) ‘
| O ("'._.' ( ;. O L) | ; ! [: I';_;_ j
[ et ~ Y
——— |
A (B) () (D)

Identify the region that represents stud®nts studying
Binlogy and Computer not Math@matics.

Question figure

Mathematics II.-"J ) /4% 2 Biology |
students A |5tudr.-t|1.u.
\ A s

| _l-
A f,f Compater
et students

{A) 2 (B 7 o) 4 M) &

42.  Find out the number of triangles in this figure.
Question figure
. |
| DT /Z]
&
P
(A) 12 (B 14 ({C) 16 B 18

43.  Which of the following diagrams represents the
correct relationship between Books, Novels and
DMctonaries 7
Answer figures

l s T
| et | I == |I S | o ‘
A T N B el s .:"-

(0.0 JI | \O)O ! WD) | ‘ S
| B G
L ) 11 L
(A) B (C) (D)

4.  If the differenes between the no. of dots on the
oppasite Fa.;z_n is 3, find out the figure which is
cofrectd
Answer Figures
‘ |/ |:'| /‘H”

vl (B0 | N v | Sl o | T
LY [V || L2
(A) (B) (©) (D)
Diirections : In questions nos. 45 and 46, which answer

figure will complete the pattern in the question figure ?

45.

CQuestion figure

Answer figures
| 7 || 7
| s _.Ei | .r | II_--" ___;-'/ 1"-.1“_.-"' |
I
(A) (B) 19 (D)

CY-2013/Page8 J‘
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6. Question figure

w——g

—y

Answer figures

| =4 Fg " il
[ e [ LSl

(B)

47.  Which of the answer fipure is exactl

of the given figure ?

Question figure

Answer figures

(A) (B) (C)
48.

Question figure

e
- "'\"-.
; |
—
., ",
| S—. Y S

Answer figures

)

() (D)

the waterin e

(ET)

From the given answ er figures, select the one wif;
is hidden,/ embedded., in the question figurg

(£}

SPACE FOR ROUGH WORK
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in the question hieures. Fron

fgures, indicate

Luestion figure

.
- ¥ d
-l - a
Answer figures
w L] w
& o - i
n
L] n L] L] L] ] L} N I Ll |
| L] . - > " :
A (% ([
A word gagerwesnied by anls ome set of numbers axg
Ve My one of the alter | e of
niyfthers siven i the alternatives are 1 i
b:‘."‘.'.:l.'_',l.l'l?l\"\-' [ alphabets asin bwo maty gl
Let®w, The olumns and ws of Mals I
Wy nbered from 0 to 4 and that of Matrix []
pumbered from 509, A Jett r from these maltrices
can e represented frst by 1wl next by
colummn, B M '.:='|.l"'|" semied | 2.3 ¢
and I can be represented by 95, 85 ¢ imnilarly
vou have to lentify the set for the word siven
ROST
Matrix - 1 Malrix - T1
I_ ! | L] =| | ] a] | i H I L]
|4 [K[L]M[N]O] PIQ[R[STT
ST o STt
== MIKIOIN[[BIT]S|Q[P[R
[2 N[O Vi | K | [RIT]IS[O]P
f—t—1—— s -2 —t 1 | by W
| ' M MO | I | ]
i1 [l B £ N =1
i | C L ! g
_I._Ir._\:ll | | I L
1) 56, 44 & | 3] O ] .
i3 75 00 i By 68 5, 58
L] S |

Wit will ap
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PART - B
GENERAL AWARENESS

51. Where does the cabbage store food ? 59. 5ir C. V. Raman was awarded Mobel Prize for b
{A) Root [(BY Leaves work on:
(C) Stem (D} Fruit | (A) Sonometor (B) LightScattering

(Cy Radio activity () Cryogenics
52. The compound that has the least value for octane
number is :

B 2 -'|I|'H'.:;| |'|‘_-|_'~|L1|-|:. . 6, section of [PC, which deals with LGRT {Leshia

{(A) n-heptane L : :
Gay, Bisexual and 1 ransgender) community is :

Q) Iso-octane (@) 2, 2-dimethyl hexane
(A) 377 (@ 376
53. Which body is constituted by the President of India Q) 370 (D) Mone of these
to advise on the decision of Central Resources
between the centre and the state 7
6l. The type of fruit obtained from a multica rpillan

(A) Taxation Enquiry Commission
apocarpouRgynoe Vig:
() . Tarf Copmission A PpOCarpou? &Y NOECium 15

O Parie Coision (A) mwglbple (B} composite
(D} Planning Commission (O aggrégate (D) simple
54, An increase in the ity plied sugresis - . . : - - ;
54 An increase in the quantity supplied suggests : (< 4 Who among the following is the founder of th
{A) arightward shift of the supply curv: *izad Hind Fauj” 7

B} a lefts shift of the supply curve . i
(% aleltwird shil hesupply curve (A) Chandrashekhar Azad

() amovement u 3 alone the supply curve =

P PP (B) Lala Har Dayal
(D} amovement -.1:1'.'.'.'|,1|-,1r_}: 'L|1._~-.|_|~r||_-ir,' Curide
=y Subash Chandra Bose

Obsidian, Andesite, Gabbro and Perd@ite e - L) VirSavarkar

(7]
Ll

(4) Extrusiverocks (B) Metgmomghicfocks

() Intrusiverocks () SedimefNidry rocks 63, [he percentage of carbon in cast iron is -
N | ! ) , (A Ftoh ;'["i;l 0.1 to 025
36. Which of the following books#fs not written by ) . _
lawaharlal Nehru ? <) 05015 (D) 6to &
{A) Glimpses of Wonld\Histor
(B} Discovery SRlgkia B4, I'he pair of compounds used as anaesthetic i
(€} My Explera@nts with Truth medicines -
|Fh An rl\ubﬂ{ﬁj}grﬂpih_‘.- (A) Mitr gen dioxade, ether
(B} Ether, Ammonia

57.  Coupling and repulsion are the bwo states af d -
(] DMNitrous oxide, Chloroform

(A) crossing over (B) linkage

(C) chiasma (Y mutation (L) Chloroform, Nitrogen dioxide
a8, Ihe production, marketing, storage, advertisement 65. Which one of the following is used as seconda

and consumption of smokeless tobacco is banned storage system in computer ?

in

&) ROM (B) RAbM
(A) Meghalava (B) Assam : .
Sihk : ; ! () Floppy 1 EFECH

L) Arunachal Pradesh (D) Nagaland (C) Floppy ) EPROM

C¥-2013/Pagel4 000 KG

Click Here For CGL Exam Full Details : http://sscportal.in/community/cgl



Downloaded From : http://sscportal.in .

r

66. Which of the followings is not correct 7 76, Which of the following does not have a Stupa ?
(4) MSP - Minimum Support Price -
: Ay DI k 1B P
By NMA - National Monuments Authority {. ! g %) Menchi
({©) PIL - Public Interest Litizgation (C) Sanchi () Barhut
(D) MNGT - National Growth Tribunal

67. The plants, which grow under water stress 77.  Deficiency of iron causes:
conditions of deserts are : (A) Scurvy By Goitre
{A) Sciophytes (B) Epiphytes - : ]
; . L) Polio D) Ricke
{C)- Xerophytes (D) Heliophytes - 5 Rickats

68.  Preparation of butter, ghee by a household for their 78.  Whosaid that “Where there is no Law there will not
own use is a part of : be Liberty” 7
(A) consumption it j _
(B own-account production (A) John Locke (B) Karl Marx
i) household capital formation (O Plato (D) Machiavelli
(I) industrial production

69, Who was the Delhi Sultan to impose Jizya even on 79, Consumer Protection Act 1986, was amended in

the Brahmins ? (A) 1991 B) 1992 ) 1993 D} 1994
(A) Balban (B Ala-ud-din Khilji '
(C) FiruzTughlug (D) Muhammad Tughlug
80. The damage of the human body due to radiation
70.  Total assembly segments in Delhi are (X-Fays gr y-rays etc,) is measured in
:"d":l 40 {n} 20 1f_-] ou l'l.l:‘[n 70 [‘flh-l Rads (B] EKems
71.  Flywheel is an important part of a steam engine (€} Roentgen \ (D -Curie
because it
(A) givesstrength to the engine iy R i . &
” 8. » Cons a, describes aas
(B}—accelerates the speed of the engine The Constitution of India, describes India as :
(Q) helps the engine in keeping the speeddiniors (A) Unionof states  (B) A Federation
(D} decreases the moment of inertia (O Aquasi-federal (D) Unitary

71 The freezing point of fresh water4€°_°
(A °C (B) 4°C (O I W s5Y B2. Soil factors are otherwise known as -

73. In relation to the State( overnmentdocal government [_.-‘l.,:l Climatic factors [B, Eda pric factors
EXeTCises | (C) Biotic factors (D} Physiographic factors
(AY Independent Agthorty
(B) Co-ordinate Authority
(O Delegatedhiuthorty
(D) Superigr Authority (A) Single user

(B} Multi user

83. The UNIX operating systen is suitable for

74.  Which Nathegal Highway is called Shershah Suri
Marg ? () Real-Time Processing,

L&) Mvational Highway No: 1 (DY Distributed Processing

(B) National Highway No: 3 =

(L) Natbional Highway No: 8

(D) National Highway No: 7 8. 'Democratic Centralism’ is an important feature of

a
Lr 4 H ['lm ¥ ¥ [ ¥ . YT T & H : 3 >
7 s SO sped 1 Barope by : (A)-Socialist state (8] Communiststate
(A) Dutch ) Portuguese
() Germans (D) Spanish (C) Democraticstate (D) Totalitarian state
CY-2013/ Pagel6 00 KG1
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86.

B7.

HE,

89.

a0,

N

CY-

Lhe current spell of cold wave in the US has been a
fall out of the

(A} political administration

(B} polar vortex

(C) biodiversity and habitats

(O climate and energy

The Minimum suppart Price for food grains was
introduced in the vear :

[A)-1954 (B) 1944

() 1964 Dy 1974

Ihe site of birth [nativity] of Gautam Buddha is
marked by ;

() aPeepal Tree

B2 mu |'|:|:-1.|.'|'_1.

Eummindel Pillar” of Ashok Maurva

() a*

(LY astatue

I'he ||'|"; *-J'-:l|-.i I'r: | IENCY IS 1| [&) Ir..'_|:||.'|'.-. ! :'-|_'i:|'.-.
which

[A) l"-f"ll.ltl' current is constant
(B) |"|'|L'l.". urrent increases with v |I|._-.-1.-

(C) photo current decreases with voltave

!.‘l‘ll."l'." electric emission is nol e 18 =

Stamens are fused with each other & thelr dnthers
and also with the petals in :
(A) Euphorbiaceae (B) Jeeumiphsae

(C) Liliacecae ()

Ehmpositae

Iransition ions akBeeBlizht in
(A) visible regibm (B) infrared region

(C) ultravifletsdgion (D) microwave region

‘Shadow CRbinet” is the feature of Administrative
system of :

(A) Japan (B) Britain
(&Y UsSA (I~ France
‘Ryder Cup” is awarded to the players of :
kAT Gol (B} Baseball

(C) Basket ball () Cards

2013/ Page18

93

g5,

96.

98,

a9,

100

I'he unit of noise pollution (level) is
(Al decibel B decimal
(<) ppm (D} Mone of the above

Virtually treeless, sparse vegetation is found in :

{A] Chapparal (B) Taiga
() Alpine (D) Tundra
l'eslais a unit of magnetic :

(A) field By flux

(L) inducton (1)) moment

“Krishi Karman Award”™ 201 2-13 for all time recor

1 PooeCl BTl |."":-L|l|-. Lion was Blven 0o

(A) Odisha {BY Madhva Pradesh
(C) Hawgyyga D} Tamil Madu

WikliVis known as the Father of ‘Indian Unrest’ ?
$A) Bipin Chandrapal

gadhar Tilak

L

(B} Bal Ga
(] Lalalajpat Rai

(M Aurobimdo Ghosh

Dactylogram is related with :
(A) finger print (B} teleprinter
(L} perumbulator (I cereals

Who benefits the most during the inflationar

period ?

(A) government servants
(B} corporate servants
=y creditors

(D) entrepreneurs

Study of organisms i relation to their environmen

w2 | ||.'|.i
A) Palynology “(B) Ecology
A0 Entomology

1) _.-"I!'|.:||_'||::|.
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PART - C

QUANTITATIVE APTITUDE

101. A can do a piece of work in 16 days and B in | 109. Jasmine allows 4% discount on the marked price of
24 days. They take the help of C and three together her goods and stll earns a profit of 20%. What is
finish the work in 6 days. If the total renumeration the cost price of a shirt if its marked priceis T 8507
for the work s ¥ 400. The amount {in rupees) each (A) T 650 m F70
will receive, in proportion, to do the work is: Y T 700 (T 680
(AyA 150, B - 100, C: 150
B 100, B:150,. C: 150 - 5 o . i
B A & ; 7 110. Selling an item for T 1800 at a discount of 10% a
() A 150, B:150, C- 100 -.t!-l|l:.,-= EPET had a gain of T 200. Had he sold the
I A:100,B:150,C: 100 iterm without discount the per uul;.1;_j‘q'\1!-}!-rﬁﬁt wionld

have been

102. When 75 isadded to 75% of a number, the answer is (A) 100 (B) 20% )25 D) 30%
the number. Find 40% of that number :

A 1 i 41 By % s 1) '=| 1 { | " 1 3 1
(A) 100 (B) 80 (& 120 ) 160 | 311, A table with marked price T 1200 was sold to a
customer forSg 1100. Find the rate of discount

103. A train 50 metres long passes a platform of length allowed pff el le
100 meters in 10 seconds. The speed of the train in

wters)/ second is el .
n BTS S ||l.1.| (Al 9% ..u!. e ~ Q) "'-IT o ||]-:| 10%
(A) 50 {B}--10 A 15 Dy 20 ~ 2 o

104. What will come in place of the question mark (7) in | 1#28N_ Edh of the two circles of equal radii with centres at
the series 7 ¥ and B pass through the centre of one another. If
18,27, 112, (M. 3396 they cut at C and D then £ DBC is equal to
|.""':| = = (B 452 () 56l .:[t'] o= | Ay B0 By 100 |.'l_-_| 120° '.I-"Il 140°

105. The difference between the compound jmberd€tand | 113. A man, a woman and a b w together finisha piece of
simple interest on a certain sum for 2 §earsft 10% work in £ days. If a man and a woman can do the
per annum 15 ¥ 300. Find the sum; work in 10 and 24 davs I'L'ﬁl-"t"l.'[tl.':‘|'. [he days it
(A) ¥ 31,000 (B} T 3500 will take by a boy to finish the work is :

T 30.000 (D) ¥ S0s0h (A) 30 (B} 35 (O 40 T 45

106. What number should b Se@jracted from both the | 114, The average of 11 numbers is 63, If the average of
terms of the ratio 1TTR Il as to make itas 2 37 first six numbers 15 60 and the last six numbers is 65
(A) 2 (Bl-N ] 4 (D) then the 2 number is

(A) 57 By 60 ) A2 ™ 64

107, _, Value of
[.oi @ e -1\'- a - 2 oge | = 1 -
| sm” 7— + sm” 82— + tan” 2° tan” BB° | ; 115, If : ¢ then the value of
(A) 1 By 2 Q) 0 D) 4 ; y

108. Find the valpe of 1 -2 sin?@ +sint 8.

(A) sirgd 0 11“ UI‘__.J il (A) =8B B 10, —&
|l._":| cnseet @ 1{"|| n,,'-._--l i 1L b, 10) i +4
SPACE FOR ROUGH WORK e
, . -
&
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. L1 r e kém = 1
i § '.rl 1 .r-"'l -y >
116. [If 1 be the incentre of AABC and ZB= 70 and | 126. The simplest value of cot 9° cot 277 cot 63" cot &
h ZC=50" then the magnitade of ZBICis: _"‘_ 15 .
- (A} 130° (BYy A0 ; .'?‘ {a) 0 (B)-1 ) -1 (H x-;
(O 120 (@) 105 b : ; ;
4 127. 55+ 177 —72°+201960 is equal to
117. Foratriangle ABC, D, E, Fare the mid-points of its (A) 1 (B) 0 Q1 D) 17
D gides. If AABC =24 sq, units then ADEF is: 128 ¥
(A) 4s5g.units (B) 65q. units {1+ sin A)(1+sin B)(1 +sin C) = (1 —sin A)
(C}) Bsqg.units (O} 12 sq. umts
T
(1-5inB)(1—sinC),0< A, BC<— then each
118. Ifa2+a-+1=0, then the valueofa’is. ‘2 ¥ =
A ! = . s1de 15 equal To
(A) 2 B 3 i 1 D 0 : S e
- 1 = ; (A) sin A sin B sin C
! A v li of its sid (B) cos AcosBeosC
119. Fora triangle circumee ntre lies on one of its sides, (© tanAtanBtanC
]|'|4:|,r|‘1|1::'.|l.'|'- o) 1
(A) rightangled (B) obtused angled 4 = —1
A 10) isosceles (D) equilateral x(i 4,229, A sphereand a hemisphere have the same radi
: e : ‘-" | = " Then the Rgfio of their respective total surface a1
2l =% ) i
P o = 4+ x+ 2, M. .1 () 4:3 .
120, W x~ = 1, then the value ot — — s (A) <N B 1:2 () 4:t (|8
L * x*[1—="2) i :
: ! 130. WRind jite value of ;
(A} 1 (B) —1 Q) 2 o -2 N e Sy e
I B A EPR o | I
o Jilxr+ y ZHX ] 3z) T Xy E
|1"-. . 121. |1._'|!-'|._:'R. the line drawn from the vertex PP intersects whenxy= +1, y=- 3 r=—1
1 QR atapoint 5. FOR =4.5cm and SR =1.5cm dien
t’, the ratios of the area of triangle PQS and pimgdig (A) 1 (B} D © -1 18)]
AN PSR is - #
£ P .
| I A i s B 2 i i
(451 (B 5= 2 J_E"J.- el 131. The ratio of the ages of two persons1s 2./ and
ok age of one of them is greater than that of the other
122. The angle in a semi-circle is: 30 vears. The sum of their ages { in years)is:
= (A) areflexangle (B} afl obsuBEangle ) 110 (B) 100
(&r anacuteangle (L™= nghifangle Q 70 (D] 40
] np.3 b i 32, The value B, which satisfies the equat
123 It x= L'-I' k= and b= L= K then for what value of 111 ]hL-\. : H}JL of @ “.hi . ”1:‘. e S g
L aa T 3 tart B +3=3secH, "= B <90 is:
k, will be x =1y A 15° or 0P B 307 or 0
ar % i
(A) O N o -1 D) 2 L) 15 or (B) 30°or0
R Q) 45%or(F (D} 60°or (D
124.  The marfgdplice of an article is T500. A shopkeeper | 133, A right pyramid 6 mhigh has a square base of wl
iV Es | wunt of 5% and still makes a profit of i - .
-_',‘i A ‘.l.-.'h:m T S ti T B protit ot the diagonal is /1152 m . Volume of the pyral
25% Wi cost price of the article is : L /
AR 15
(Ay T 384 By - ¥ 380 East : S
i .l-] y e (A) 144 m’ (B 288 m”
() T 300 Dy ¥ 376 e . i :
(C) 576 m (v 1152 m
175. A can do a piece of work in 12 days and B in | 134, A train running at the speed of 84 km,/ hr pass
15 days. They work together for 5 days and then B man walking in opposite direction at the spee
left. The days taken by A to finish the remaining & km/hr in 4 seconds. What is the length of
work is: train (in metre) ?
(A) 3 B 5 ) 10 D) 12 (A) 150 (B) 120 {C) 100 D) ¢
. - S SPACE FOR ROUGH WORK ; \ v {
= i L ey L i = bt & _ . 3
5 "‘. - ; 1
A lJ_' I L ¥ . .
CY-2013/Page22 S T o o 4 . 400 K
- b, i * = . : ) et . Byt . £ [ L4 f_ (] - o |
{)‘ J. L3 i ' Ir. | H
v { i
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136.

137.

138,

139,

140.

141.

141

143,
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If 25— 1427+1=320, then the value of x is :
(&) 6 (B) B g 5 . Dy 7

Among the angles 30°, 367, 45°, 50° one angle cannot
be an exterior angle of a regular polygon. The angle
s :

{A) 307 (B) 36° <) 45° Dy s0°

If sin 6=0.7, then cos 8,0 = 8 <907 is

(A) 03 (B) 0.49
€ Jos1 D) J9

If a = 4011 and b = 3989 then value of ab = ?
{A] 15999870 (B) 15B99879

(C) 15989979 (D) 15998879

The value of sin? 65°+ sin? 25° + cos® 35° 4
cos? B5% s ;

{1

1
(A) O B 1 S 2 @ 3

In the following number series a wrong number is
given. Find out that number.

8, 18, 40, B6, 178, 370, 752

(A)-178 (B) 180 Q) 128 (D) 156

If the ratio of volumes of bwo cones is 2 : 3 andhs
ratio of the radii of their bases is 1: 2, then theragé
of their heights will be:

(A) 8:3 (B) 3:8 Q) 4:3 (Dhedet 4

3 years ago, the average age of a fangily™h> members
was 17 years. A baby having béen bosnfthe average
age of the family is same today, \I'hé present age of
the baby is : &

(A) 1year \B) 1 years
(G 2years (D) 3vyears

The three equal circles touches each other
externally, If the centres of these circles be A, B, C
then AABC is:

(A) anghtangle triangle

(B) " an equilateral triangle

(C) anisosceles tdangle

(D) ascalene triangle

The adjoining pie-chart shows the proportionate
expenditure on various item of Amar's family. If the
monthly income of Amar is T 48,000/- then answer
Question No. 144 to 147,

— 34

: -?‘"""wi' .'.. [RANSPORT
SAVINGS

EDUCATION  17%

| Rl

|
e
Yo" FOOD ‘

144. Had his income 30,000 /- how much would be
spent on food, ©

(A) 14.960 (B 1,360

() Silph D) 6,800

1388 \If 10% of miscellaneous expenditure is earmarked

for clothing, how much amount is spent on clothes
T

(A) T 14,400 By T 1,448

(O ¥ 2880 (D) T 15,840

146. How much does he save per month ?
(A) 7,200 (B) 14,400

&y 3,840 (Dy 2,400

147. How much does he spend more on rent than
transport and education taken together ?

(&) 2,400 (B) 9,600

() 4,300 (D) 12,000

CY-2013/Page24
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Following histogram depicts the range of heights of FOR VISUALLY HANDICAPPED
students in a class of bl students. Study the same and CANDI DATES ONLY
answer Question No. 148 to 150.

144. 16 children are to be divided into two groups A and

B of 10 and & children respectively. The average

— —_— marks obtained by the children of group A is 75 and
that of all the children is 76, Then the average marks
ar | : :
) of the children of group Bis
25 .
1E) ' | 2
o [ | [ (B} =
o) 1
21 .
| 20 | A ]
) o o
| 18 | 3
!

Mumber of students

| o | | 145. Find three numbers in the ratioof 1 23, so that the
B =n sum of their squares is equal to oU3
i i (A) 4,8,12 (B] 6 12,18
81 e ' T ) ™) 14
I | () 7, 1421 (4 8, 16, 24
6| s ,
| =l s LA
| 1 i A I -— y P, £ i L
[ : 1 1 146. By selling salhgtR55.80 per quintal a dealer lost 7'
| 2} = T . B X -
| _| | l r [ . A1 what priceNshould he havs sold it to paIn
| " | _-. ! ! | 1 [ TI". ]
100 130 120 130 140 150 160 170 180 190 N =
I - (A) W Nadn By £ 64.00
| |||-|:-_-|'! in centimeter L |

L BN IR - ) N2 (DY T 6520

- ,.\_;
A

S
)

12 e averaoce marks of 36 stndents in section A is

-

148. MNumber of students having height more than 80% and that of 24 students in section B is 96%

120 cms ; Find the average marks of all the students i

Tx

——— section A and section B together
(&) 25 B) 8 A 13 (A) 90% (B) B8 (© 92% D) 91%
148. The puter crcumference of a 1 cm thick pipe 1

4 cm. How much water will 7 cm of the pip

149. MNumber of students withhthtir Qeights between hold ? | Take v =
130 to 150 ¢ms i T a
(A) 1078 cx {E !
() 308 c. () 792«

149. FP+Q+E+5=5an | (F4+ () (R+5)=h, then the

numerical valueof P+ 0

(A) i i 0 () ) 2
150. Group which contains maximum number of
students : 150, The compound interest on a certain sum for 2 years
| — — | 1w 12% per annum ._'|'||'||'-|-_I|'.|l_'l'|.'I'II'IlI.'lI."' s 1272

joo = he simple interest for that sum a the same rate and
(A) 130-140 ,."' (B). 150-160

e ——

for the same period will be

T 12 T
(C) 140-150 (1) 160-170 (O T1220 oy $12

SPACE FOR ROUGH WORK
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PART - D
ENGLISH COMPREHENSION

echons: | b to 155, som ! | Drirections : In Cuestion nos. 156 to 160, sentences are given

th blanks to be filled in with an appropriate wordi(s}

part of a sentence has an error and blacken tha Four alternabives are suggested for each question. Choosa
oval [«®] corresponding to the appropriate letter (A, B, C) the correct altermative out of the four and indicate it by

[f a sentence 15 free from error, blacken the oval blackening the appropriate oval | @ | in the Answer Sheet
corresponding to (D) in the Answer Sheet. ; : _ [
156. Leila said the new restaurant was nothing to wrile
151, Suddenly they saw a car coming / about. She thought it was

(A)

(A) excellent (B) justaverage
at a break neck speed. /

(C) really terrible (&) splendid

(B | b

An old man were crossing the road at the =zebra

crossing. / Mo error. 157. My INigerian friengd, Fela is having trouble finding
o ) work here in Londdw, but he says if push comes to
shove he can gWgye .
» (A)-mo hgck to Nigeria
152. After tasting both / [ohn prefers /
(A) {B) (Bl oh (e
tea than coffee, / No Ermor, () Wyin the lottery
(L) (N
| (I end of the journey that is life
153. [sprained my ankle / when | was/
{A) (B) £ | 158. [f you say to someone “You re s full of yourself”
| they'll probably feel
plaving basketball / Noerror. |
(C) () | (&Y proud (Bl upset
(O pleased (O calm
154. lloved /the drawings/

159, Bob and Jane decided to tie the knot becauseé

(A) (B
thev were so réal. / Slokrrhd ’ . ;
i0) ) (A) it had come undone
(B}~ they loved one another
155. ltistime | (C) they needed to save money
(A) (M) they wanted tomake a long rope
we should accept all our people as equals/
Hj 160. The archermissedthe by aninch.
and as pariners in the task of building a strong and (A} aim (B} score
unifed nation. / No error.
(D) (DY poini (D) blow
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Directions : In Question nos, 161 to 163, out of the four
alternatives, choose the one which best expresses e

meaning of the given word and mark it in the Answer Sheet

161. CREDIBLE:

(A) worthy B} charming

{C) serious (M believable
162. OBSTREPEROUS

[.—l"\._l Sullen BY Unruly

WE] Lazy (M Awlkoward
163. EXTRICATE

(A} Pull (B) Free

II':._L] Tie IT]! ""fli"lll..l-‘"

Directions : In Question nos. 164 to 166, choose the w ord
opposite in meaning to the given
Answer Sheet.

word and mark it in the

164. GROUP
(A) solitary (B singular
(©) individual (L} alone
165. ACQUIT:
(A) condemn (B) despair
() mild (I} smart
166. DISSENT:
(A) agreement (B} discord
(C) disagreement (D) unacceptable

Directions : In Questions No. 167 to0 171, four alternatives
are given for the Idiom/ Phrase underlined in the sentency
Choose the alternative which best expresses the meaning
of the Idiom/ Phrase and mark it in the Answer Sheet,
167. The mention of her former husband’s manwud stll

makes Rita foam at the mouth

(A) fall sick By angry

C) vomil (DY sha

168. The newly elected Chief Ministerhas [fmised to
bring about changes in the stat®
(A) cause to happen (B) frngdfyce
() make (Cizgry
169. He gave vent o his plea®mgk with a smile
(A) emoved (B} shared
() allowed (D) expressed

170. Wemust hu--':'m'u.!nurn*-:.u:n::--..1;.-,.1|n--l|~|.1nl’.im--a
(A) concede (B} save
(C) suppart ) sing

171.  After his business failed, he had to work very hard
to keep the wolf from the door
(A) defend from enemies
(B) keep away extreme poverty
{C)-earn an honest living
(DY regain his lost position

CY-2013/Page29

Directions : In Question nos. 172 to 181, a4 sentenc e/ a part
of the sentence is underlined, Below are given alternatives
to the underlined part at (A), (B), (C) which mas improve
the sentence. Choose the correct alternative. In « A5e No
mmprovement is needed your answer is (D). Mark vour
answer in the Answer Sheet.

172. Motor cars carry people from one place to another,
(A} from place to place
(B) aboutthe place
(T} for travel
(D)Mo improvement
173. Then with all his loot he sailed inwards Scotland's
.'-h-*r:.
(A) onwards (BY towards
() forward (D) Noimprovement
174. The teacher was very proficient in his subject.
(A) expert (BY well versed
(C) proficient W Mo improvement
175. The office is Soor N closed

{A) justig (By- abowt to

1) where iny () Mo improvemenit

176. He Hunfa wooden chair that has broken in the
o)
(Al wooden and broken chair
o W) _broken wooden chair
b Ve 3
1<) broken and wooden chair
(I MNoimprovernent

7+ The robbers fled before the palice came
(A)—arrived (B} were coming

(C) had come (1Y Noimprovement
I

178.  The hosts were taken aback when many guests who
had been invited did not turn up for the party
(A) had been invited (B had invited
() wasinvited (B Noimprovement

179. The master aimed a blow o Oliver's head with the
ladle
[A) a throw at (B} a punch in
(C) _—a blow al (D} Noimprovement

180. The athletes who have won prizes are being

honoured,
{A) The prize winning athletes
(B r|1!'..l.r|'l.l.'1'i_""-'.!'I("'-.ITI."_'I"-':'II],"r!.f'l."-»
(C) The athletes who are w inning prizes
(B No improvement
181. Canyou please give me some leave ?
(A) grant for me « (B
8] Mo improvement

grant me

(O grant from me
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Direclions : In Question nos. 182 to 188, out of the four
alternatives, choose the one which can be substituted for
the given words/ sentences and indicake it by blackening

the appropriate oval | & | in the Answer Sheet

182. A word that reads the same backwards as
forwards
(A) palindrome (B) acrostic
() homophone (L) acronmym
183. A principle or standard by which anything is or
can be judged :
(AY criterion (B} manifesto
(O copyright (D) epitome
184, A person whois self-centred :
(A} eccentric (B) egoist
(C) masochist () narcissist
185. The firing of many guns at the same iime to mark an
OCCASLoN !
(A) wvolley (B) fusillade
() salvo (D) attack
186. Omeliving on vegetables:
{A) barbarian {B) vegelgan
{C) herbivore (L crnivire
187. A person who shghoris or -|'!|-:|L'~'~ n favour of
something
k
(A} volunteer (B) advocate
(C) assistance (D) adviser
188. Anextract froma book of writing :

(A) Preface )

Excerpt

r|I|E___1 Review . (I3 Foolnole

CY-2013/Page30

Directions : [n Question nos. 189 and 190, four words are
given in each guestion, out of which only one word is
correctly spelt. Find the correctly spelt word and mark your
answert in the Answer Sheet.

159, [(A) Posessian
(B} _Possession
() Possesian
(1) Possesenn
190. (A) Imakulate

(B Immakulate

[mmaculate

(D)

M) Immaculete

Directons ; In Question no% 191 to 200, vou have bwo brict
passages with 5 qigstiops following each passage. Read
the passages -:_dr-‘_"l'u.l_[_'l.' find choose the best answer to each
question oft ofthe four alternatives and mark it by
blackening tieappropriate oval | & | in the Answer Sheet.

Passage - I (Q. No. 191-195)

We are living in the Age of Science. Everyday new
inventions are being made for the good of humanity, The
scientific inventions began after the Industrial Revolubion
of 1789, Within these 200 years, science has made a
wonderful progress. The aeroplane is one ot the most
important inventions of science during the Modern Age. Tt
is the fastest means of transport known so far, An acroplane
resembles a flying bird in shape. Inside there are seats for
the PRSSENEErs al 1d a cabin for the |."ilil."'-. [his cabin is called
a cockpit, It has an engine that is worked by petrol. Itisall
made up of metal and can fly at a very high speed. Before
taking off it runs on the runway for some distance to gather

speed, Then it suddenly hops up the earth and takes off.

191. An aeroplane has an engine that is worked by

gas (B) die=el

(Cf petrol (%) steam
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192. Weare tving in the highways are bwo-lane roads (one lane mn each dire tiom),
"-.._':_"U Age of science though much of this is being expanded to four-lanes, and
(B) _.'n.,;.:l-n1 Imventions '1'."T'I~.'|||'~"-..:|<'i:;:_:I1.|.'|rI:‘- Some sechons of the network are
() Age of industrialization toll roads. Over 30,000 km of new highways are planned
(D) Modern Age or under construction as part of the NHDP, as of 21011

his includes over 2,600 km of ¢ Mpresswaves currently under

193. The 15 one of the most important | construction
= = I

inventions of science during the Moderm e ; g
2 196. What is the current measurement of EXPressways

(A} ‘tamin (B) ship under construction in India 7
(L] aeroplane ) motor vehicly {3 1,000 km (B) 15,000 lem
(C) 30,000 km (D 2,600 km

194. The scientific invention began after the Industrial
1]

Revolution of ; 19%.  What is the measurementaf §vo-lane Natonal
A} 1779 (BY 1789 Highways of India ?
'/ Fari- B S
(C) 1889 = (A) 71,000 km (B)  T5.000 km
- ) Ly 1879
Q) 61,000 km % 50,000 km

195. The cabin for the pilot is called a 3 N
F 198. The mayd@yy ofWational | lighways in India have :

() chamber (B) cubicl () Ay lanes By two-lanes ~
(€) cube AB) cockpit ION sixdanes (I eight-lanes Lﬁ
1)
Passage - I1 (Q. No. 196 - 200) 9. YWhat percentape of roads in India are Mational
Highways 7
The National Highways Network of India measmmes (A} 40% _ (B).-2%
over 70,934 km as of 2010, in luding over 1,000 ki of () 30 Dy 4%

limited-access expressways. Cut of 71,000 km @A tichal

1

I‘{!];".:I'I-'I-'L'i.'-.“ 15,000 r'lLI:i kmaredor § lanes Jyd PN g 200, What is the re -,I_‘_-,:||n.iL'\-;||t1_ ofthe NHAL?

300,000 km are 2 lanes. The National Fhghyat® Authority (&) expansion of Nativnal | lighways
of India (NHAT) is the nodal agPng responsible for (0) planning of National | lighways
hL|i|{|l|1;_:,l||1_a:|rn|||';_-,.=|1.| maintainim§most of the national (L3 building, upgrading and maintaining of

: . Matiomal Highways
highways network. The National | lighways Development S tEhway

; = : (L) contra lational rhway
Project (NHDP) is a major effort to expand and upgrade (D) control of National Highs Y

the network of highways. NHAI often uses a public-private

i =L =
partnership model for highway develiopment, mamtenance
dnd toll-collection. National highways constituted about
2% of all the roads in India, but carried about 40% of the
tokal road traffic as of 2000, The majority of existing national
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